Semileptonic mode

Channel N;ifcnal Czic (%) 0(Z+c)B[pb]
Z —ete” | 1070 £ 100 | 0.63 =0.03 8.6 0.8+ 1.0
Z— utu~ | 1450 + 140 | 0.81 4+ 0.03 91+£09+1.0
A AN 0(Z+c) B = 8.8+ 0.6(stat) == 1.0 (syst) pb

Channel N;ifglal Cz (%) 0(Z+c)/o(Z+D)
Z —ete” | 2610 £110 | 2.90 4+ 0.08 1.9+02+£02
Z— utu~ | 3240 + 150 | 3.934+0.10 22+03+x02
Z— 00 | 0(Z+c)/0(Z+b) =2.0£0.2(stat) = 0.2 (syst)

D* mode

Channel Ny & Cic (%) 7(Z+c) B [pb]
Z —ete” 280 +60 | 0.13x£0.02 109 =22 +£09
Z—utu 32080 | 0.18 =0.02 8.8 £2.040.8

Z — 00 0(Z+c) B =9.7 £ 1.5(stat) == 0.8 (syst) pb

D** mode

Channel NE Czic (%) o(Z+c)B[pb]
Z —ete” 150 £30 | 0.1140.01 73+£154+05
Z—utu 250 =30 | 0.14 £0.01 93+1.140.7

Z — 00 0(Z+c) B = 8.5+ 0.9 (stat) - 0.6 (syst) pb

Combination
Z — 00~ 0(Z+c) B =8.8+0.5(stat) £ 0.6 (syst) pb




